Mayor Andrea Horwath

2024	Total Expense		# of Attendees	ProRated Expense	
Bishop Crosby Charities Event - Ticket	\$	150.00	1	\$	150.00
Earth to Table - Lunch Meeting - Feb 23/24		128.65	3		42.88
Big City Mayors' Caucus Meeting Ottawa, ON Feb 25-27/24 Transportaion Accommodation		497.48 360.47			857.95
The Hamilton Club - Lunch Meeting - Feb 20/24		87.34	2		43.67
Bardo - Lunch Meeting - Mar 4/24		77.57	2		38.79
YWCA Women of Distinction Awards - Mar 7/24		300.00	2		150.00
Bardo - Working Lunch - Mar 20/24		42.78	1		42.78
Flamborough Chamber of Commerce Outstanding Business Awards - Apr 11/24		282.50	2		141.25
The Hamilton Club - Lunch Meeting - Apr 11/24		171.34	4		42.84
Big City Mayors' Caucus Meeting Burlington, ON Apr 18/24 Accommodation Parking		175.10 16.95			192.05
The Hamilton Club - Lunch Meeting - May 7/24		55.34	2		27.67
Hamilton Police Service Awards Night - May 15/24		70.56	1		70.56
Ecole Secondaire Georges-P-Vanier Gala - May 18/24		120.00	2		60.00
Federation of Canadian Municipalities Conference and Trade Show Calgary, AB June 5-9/24 Registration Transportation Accommodation Per Diem and Meals		1,233.75 1,216.24 1,055.32 211.86			3,717.17
Housing Tour and Meeting with Minister Calandra - Aberdeen Tavern - Lunch Meeting and Room Rental - Jun 17/24		1,310.00	13		100.77

Mayor Andrea Horwath - Continued

2024	Total Expense	# of Attendees	ProRated Expense
Hamilton Community Foundation Learning Tour Montreal, QC			
July 8-11/24			
Accommodation	\$ 950.64		
Transportation Per Diem and Meals	- 201.51		\$ 1,152.15
CANUSA Games			
Flint, MI			
Aug 8-10/24			
Transportation	506.67		
Accommodation	286.38		
Per Diem and Meals	139.87		932.92
Associaton of Municipalities of Ontario Conference			
Ottawa, ON			
Aug 17-21/24	074.00		
Registration Transportation	971.80 685.48		
Accommodation	1,134.28		
Per Diem and Meals	250.68		3,042.24
	110.00	2	
Festitalia Regional Dinner - Sept/24	110.00	2	55.00
Great Lakes St Lawrence Cities Initiatives Meeting - Ark			
and Anchor Espresso Bar - Sept 10/24	142.71	11	12.97
Great Lakes St Lawrence Cities Initiatives - Ontario Marine			
Council Luncheon, Economic Club of Canada - Purchase			
Sept 26/24	339.00	2	169.50
The Mule - Lunch Meeting - Sept 26/24	208.08	6	34.68
The Mark Dresse Ferrille House Fell For Door Frant			
The Mark Preece Family House - Fall For Beer Event - Sept 27/24	256.59	2	128.30
36pt 21/24	250.59	2	120.30
Love Lifted Me Gala and Concert - Oct 10/24	125.43	1	125.43
Comunita Racalmutese Maria - Dinner - Oct/24	160.00	2	80.00
Power of Work Awards Lunch - Nov 14/24	258.00	2	129.00
Ciao Bella - Holiday Staff Dinner - Dec 19/24	326.37	6	54.40
TOTAL	\$ 14,616.74		\$ 11,594.96

Councillor M	. Wilson -	Ward 1
--------------	------------	--------

	2024		Total Expense		# of Attendees	ProR: Expe	
NIL			\$	-		\$	-
		TOTAL	\$	-		\$	-

Coucillor Kroetsch - Ward 2

2024	Total Expense		# of Attendees	 ProRated Expense
Association of Municipalities of Ontario Conference Ottawa, ON Aug 18-21/24				
Registration Transportation	\$	1,015.87 434.96		
Accommodation Per Diem		283.57 285.00		\$ 2,019.40
TOTAL	\$	2,019.40		\$ 2,019.40

Councillor Nann - Ward 3

2024	Total Expense		Total Expense # of Attendees		ProRated Expense
Reverend John C Holland Awards - Feb/24	\$	200.00	2	\$ 100.00	
Federation of Canadian Municipalites Conference and Trade Show Prince George, BC March 4-8/24 Transportation Accommodation Per Diem		1,657.61 584.64 180.00		2,422.25	
Federation of Canadian Municipalites Conference and Trade Show Calgary, AB June 6-9/24 Registration Per Diem Transportation		1,233.75 195.00 1,418.01		2,846.76	
Hamilton and District Labour Council Activists' Awards - Jun 25/24		190.00	2	95.00	

Councillor Nann - Ward 3 - Continued

2024	Total Expense		# of Attendees	-	ProRated Expense
Association of Municipalites of Ontario Conference Ottawa, ON Aug 17-21/24 Registration Per Diem and Meals Accommodation Transportation	\$	1,015.87 291.61 283.57 15.93		\$	1,606.98
Uber to Meeting - Nov 8/24		15.62			15.62
Afro-Canadian Association 45th Anniversary Gala - Nov/24		150.00	1		150.00
Federation of Canadian Municipalites Conference and Trade Show Ottawa, ON Dec/24 Accommodation		1,139.04			1,139.04
TOTAL	\$	8,570.65		\$	8,375.65

Councillor Hwang- Ward 4

2024	Total Expense # of A		# of Attendees	-	ProRated Expense
Rural Ontario Municipal Association Conference					
Toronto, ON					
Jan 21-23/24					
Registration	\$	757.10			
Transportation		25.04			
Accommodation		620.46			
Per Diem and Meals		85.90		\$	1,488.50
TOTAL	\$	1,488.50		\$	1,488.50

Councillor Francis- Ward 5

2024	Total Expense		Total Expense # of Attendees		ProRated Expense	
Mileage - 2024	\$	172.90		\$	172.90	
Meeting Expense - Crooksy's - Feb 23/24		41.58	2		20.79	
Meeting Expense - The Village Restaurant - Feb 27/24		26.67	2		13.34	
Meeting Expense - Pita Pit - Mar 4/24		27.00	2		13.50	
Meeting Expense - Coffee Culture - Mar 11/24		7.44	2		3.72	
Meeting Expense - Pita Pit - May 13/24		27.00	2		13.50	
Meeting Expense - Crooksy's - Mar 22/24		67.57	3		22.52	
Meeting Expense - Scout Café - May 31/24		36.51	2		18.26	
Meeting Expense - The Powerhouse - July 5/24		46.66	2		23.33	
Stoney Creek Chamber of Commerce 75th Anniversary Gala - Sept/24		84.75	1		84.75	
Meeting Expense - Cause & Effect - Sept 25/24		76.00	2		38.00	
Love Lifted Me Concert & Gala - Oct 10/24		125.43	1		125.43	
Stoney Creek Holiday Gathering - Nov/24		33.90	1		33.90	
Meeting Expense - Dark Horse - Nov 27/24		21.47	2		10.74	
TOTAL	\$	794.88		\$	594.67	

Councillor Jackson - Ward 6

2024	Total Expense		# of Attendees		ProRated Expense
Cancer Assistance Program - Feb 2/24	\$	30.00	1	\$	30.00
Meeting Expense - Ale House - Feb 4/24		18.04	2		9.02
Meeting Expense - 1515 Brown Barrell - Feb 9/24		114.71	2		57.36
Trenholme Park Bocce Association - Feb14/24		350.00	3.5		100.00
Meeting Expense - Donut Diner - Mar 6/24		36.36	2		18.18
Meeting Expense - 1515 Brown Barrell - Mar 18/24		131.42	3		43.81
Meeting Expense - 1515 Brown Barrell - Apr 4/24		71.98	2		35.99
Sons and Daughters of Italy Spring Concert and Dance - June 8/24		120.00	2		60.00

Councillor Jackson - Ward 6 - Continued

2024	Total Expense		# of Attendees	ProRated Expense	
Theatre Aquarius Gala and Auction - June 13/24	\$	125.00	1	\$	125.00
Meeting Expense - 1515 Brown Barrell - July 11/24		48.94	2		24.47
Meeting Expense - Donut Diner - July 20/24		37.00	2		18.50
Rotary Club - Ancaster Autumn Stroll - Sept 8/24		247.62	2		123.81
Good Shepherd Centre - Jazz Up Blues - Sept 18/24		400.00	2		200.00
Meeting Expense - Donut Diner - Oct 4/24		47.84	2		23.92
TOTAL	\$	1,778.91		\$	870.05

Councillor Pauls - Ward 7

2024	Total Expense		Total Expense # of Attendees		ProRated Expense
International Children's Games					
Leon, MX					
July 14-20/24					
Transportation	\$	1,368.42			
Accommodation		141.44			
Per Diem and Meals		881.31		\$	2,391.17
Canadian Italian Business and Professional Association					
Gala - Oct 24/24		180.00	1		180.00
TOTAL	\$	2,571.17		\$	2,571.17

Councillor Danko - Ward 8

2024 Meeting Expense - Emoi Vietnamese - Oct 13/23 YWCA Women of Distinction Awards - Mar/24 West End Home Builders' Association Conference - Mar/24 Art Gallery of Hamilton Gala - Mar/24	Total Expense		# of Attendees	ProRated Expense	
Meeting Expense - Emoi Vietnamese - Oct 13/23	\$	61.34	2	\$	30.67
YWCA Women of Distinction Awards - Mar/24		300.00	2		150.00
		254.25	1		254.25
Art Gallery of Hamilton Gala - Mar/24		400.00	1		400.00
Interval House of Hamilton - Golf Event - Apr/24		175.00	1		175.00
Hamilton Chamber of Commerce - Jun/24		96.05	1		96.05

Councillor Danko - Ward 8 - Continued

2024		Total Expense		# of Attendees	ProRated Expense	
Uber - Sept 2/24		\$	25.54		\$	25.54
Liberty for Youth Gala - Nov/24			130.00	2		65.00
	TOTAL	\$	1,442.18		\$	1,196.51

Councillor Clark - Ward 9

2024		Tota	al Expense	# of Attendees	ProRated Expense	
NIL		\$	-		\$	-
	TO	OTAL \$	-		\$	-

Councillor Beattie - Ward 10

2024	Total Expense		# of Attendees	ProRated Expense	
Meeting Expense - Crooksy's - Mar 22/24	\$	54.24	3	\$	18.08
Meeting Expense - Chuggy's - May 3/24		119.94	6		19.99
Meeting Expense - The Mule - May 27/24		129.34	4		32.34
Meeting Expense - Raja's Indian Grill - July 3/24		98.65	3		32.88
Meeting Expense - Maria's Tortas - July 16/24		58.93	3		19.64
Meeting Expense - Chuggy's - July 22/24		73.51	3		24.50
Meeting Expense - Chuggy's - Sept 10/24		77.71	3		25.90
Stoney Creek Chamber of Commerce 75th Anniversary Gala - Sept/24		169.50	2		84.75
Love Lifted Me Concert & Gala - Oct 10/24		250.85	2		125.43
Stoney Creek Chamber Mayor's Lunch - Nov 1/24		73.45	1		73.45
Rural Ontario Municipal Association Conference 2025 Event - Advance Registration		824.90	1		824.90
TOTAL	\$	1,931.02		\$	1,281.86

Councillor Tadeson - Ward 11					
2024	Total Expense		# of Attendees	ProRated Expense	
Mileage	\$	2,702.00		\$	2,702.00
Rural Ontario Municipal Association Conference Toronto, ON					
Jan 21-23/24					
Registration		757.10			000.00
Transportation		111.58			868.68
Glanbrook Community Services Spring Fling - Apr/24		160.00	4		40.00
Stoney Creek Chamber of Commerce AGM - Sept/24		28.25	1		28.25
Stoney Creek Chamber Mayor's Lunch - Nov 1/24		73.45	1		73.45
Stoney Creek Holiday Gathering - Nov/24		33.90	1	33.9	
TOTAL	\$	3,866.28		\$	3,746.28
Councillor Cassar - Ward 12					
				ı	ProRated
2024	Tot	Total Expense # of Attendees			Expense
Strong Towns Conference					
Cinncinnati, OH May 14-18/24					
Registration	\$	220.00			
Transportation	Ψ	98.08			
Accommodation		177.64			
Per Diem and meals		210.00		\$	705.72
				·	
Association of Municipalites of Ontario Conference					
Ottawa, ON					
Aug 18-21/24		4 045 07			
Registration Transportation		1,015.87			
Accommodation		47.31 283.57			
Per Diem and meals		329.32			1,676.07
1 of Blotti and Modio		020.02			1,070.07
Pivot Tech Conference - Nov 14/24		185.00			185.00
TOTAL	\$	2,566.79		\$	2,566.79
Councillor A. Wilson - Ward 13					
2024	Total Expense		# of Attendees		ProRated Expense
NIL	\$			\$	-
TOTAL	\$	-		\$	-

Councillor Spadafora - Ward 14

Countries opacatora train 14						
2024		Total Expense		# of Attendees	ProRated Expense	
Negev Gala - Apr/24		\$	250.00	1	\$	250.00
	TOTAL	\$	250.00		\$	250.00
Councillor McMeekin - Ward 15						
2024		Total Expense		# of Attendees		roRated xpense
Westdale Cinema Event - Ticket		\$	180.11	1	\$	180.11